

ID : 16086

Name : Hammad Ali

Section : A

Subject : Applied Calculus

DATE : 21 / August / 2020.

Part A

Question 1

The function of $g(t)$ is defined

by $g(t) = 0 \quad t < 0$

$t^2 \quad 0 \leq t \leq 3$

$2t+3 \quad 3 < t \leq 4$

$12 \quad t > 4$

(a) state any point of discontinuity.

Solution

At point $t=3$ $g(t)$ is not continuous

because $g(3) = 9$
and $\lim_{t \rightarrow 3} g(t) \neq 9$

So limit does not exist

In the case
Thus $t=0$ is discontinuity point
in the domain $g(t)$.

Part b

Solution

$$g(0) = 0 \text{ and}$$

$$\lim_{t \rightarrow 0} g(t) = 0$$

$$\text{and } \lim_{t \rightarrow 0} g(t) = 0$$

$$\text{i.e. } \lim_{t \rightarrow 0} g(t) = \lim_{t \rightarrow 0} g(t)$$

$$\Rightarrow \lim_{t \rightarrow 0} g(t) \text{ exist}$$

$$\text{and } \lim_{t \rightarrow 0} g(t) = g(0)$$

So $g(t)$ is continuous
at point $t=0$.

Q2

Page 3

Find the Maclaurin Series for
 $y(x) = x^2 + \sin x$

$$F(x) = x^2 + \sin x$$

$$F(0) = 0$$

$$F'(x) = 2x + \cos x$$

$$F'(0) = 2(0) + \cos(0)$$

$$F'(0) = 1$$

$$F''(x) = 2 - \sin x$$

$$F''(0) = 2 - \sin(0)$$

$$F''(0) = 2$$

$$F'''(x) = -\cos x$$

$$F'''(0) = \cos(0)$$

$$F'''(0) = 1$$

Substituting values the formula:

$$F(x) = F(0) + F'(0)x + \frac{F''(0)x^2}{2!} + \frac{F'''(0)x^3}{3!} + \dots$$

$$x^2 + \sin x = 0 + 1x + \frac{2x^2}{2!} + \frac{(-1) \times 3}{3!} + \dots$$

$$x^2 + \sin x = x + x^2 - \frac{x^3}{6} + \dots$$

Q3

Page 4

Find y'' given

$$1 + xy = x^2 + y^2$$

$$\frac{d}{dx}(1) + \frac{d}{dx}xy = \frac{d}{dx}x^2 + \frac{d}{dx}y^2$$

$$0 + x \frac{dy}{dx} + y = 2x + 2y \frac{dy}{dx}$$

$$x \frac{dy}{dx} - 2y \frac{dy}{dx} = 2x - y$$

$$\frac{dy}{dx} (x - 2y) = 2x - y$$

$$\frac{dy}{dx} = \frac{2x - y}{x - 2y}$$

Now taking second derivation using quotients formula.

$$y'' = v \cdot u' - u \cdot v'$$

$$u = 2x - y$$

$$u' = 2$$

$$v = x - 2y$$

$$v' = 1$$

Put in formula

$$y'' = \frac{(x - 2y)(2) - (2x - y)(1)}{(x - 2y)^2}$$

$$y'' = \frac{2x - 4y - 2x + y}{(x - 2y)^2}$$

$$y'' = \frac{-3y}{(x - 2y)^2}$$

Part b

Find y' by using logarithmic differentiation [Page 5]

$$y = x^3 (1+x)^9 e^{6x}$$

Taking log on both side

$$\log y = \log x^3 (1+x)^9 e^{6x}$$

$$\frac{1}{y} \frac{dy}{dx} = \frac{1}{x^3 (1+x)^9 e^{6x}} \frac{d}{dx} (x^3 (1+x)^9 e^{6x})$$

$$\frac{dy}{dx} = y' = \frac{y}{x^3 (1+x)^9 e^{6x}} \left[x^3 (1+x)^9 \frac{d}{dx} e^{6x} + x^3 \cdot e^{6x} \frac{d}{dx} (1+x)^9 + (1+x)^9 e^{6x} \frac{d}{dx} x^3 \right]$$

$$= \frac{y}{x^3 (1+x)^9 e^{6x}} \left[x^3 (1+x)^9 (6e^{6x}) + 9x^3 e^{6x} (1+x)^8 + 3x^2 e^{6x} (1+x)^9 \right]$$

$$= \frac{y}{x^3 (1+x)^9 e^{6x}} \left[6x^3 e^{6x} (1+x)^9 + 9x^3 \cdot e^{6x} (1+x)^8 + 3x^2 e^{6x} (1+x)^9 \right]$$

$$= \frac{y}{x(1+x)} \left(3(2x(1+x)^9 + 4x+1) \right)$$

$$= 3y \left[(2x(1+x)^9 + 4x+1) \right]$$

$$= \frac{3y \left[(2x(1+x)^9 + 4x+1) \right]}{x(1+x)}$$

$$y = x^3 (1+x)^9 e^{6x}$$

$$y' = x^3 (1+x)^9 \frac{d}{dx} e^{6x} + x^3 \left(\frac{d}{dx} (1+x)^9 \right) \cdot e^{6x} + \left(\frac{d}{dx} x^3 \right) [(1+x)^9] \cdot e^{6x}$$

$$= x^3 (1+x)^9 (6e^{6x}) + x^3 (9(1+x)^8) \cdot e^{6x} + 3x^2 (1+x)^9 \cdot e^{6x}$$

$$= 6x^3 e^{6x} (1+x)^9 + 9x^3 \cdot e^{6x} (1+x)^8 + 3x^2 e^{6x} (1+x)^9$$

$$= 3x^2 e^{6x} (1+x)^8 [2x(1+x)^9 + 3x + (1+x)]$$

$$= 3x^2 e^{6x} (1+x)^8 [2x(1+x)^9 + 3x + 1 + x]$$

$$= 3x^2 e^{6x} (1+x)^8 [2x(1+x)^9 + 4x + 1]$$